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Sidlejenrss : (1)

(1) Check the question paper for jair=ess of printing. If there is any lack of fairness,
inform the Hall Supervicar imme-**aely.
(2) Use Blue or Black ink to wnr and underline and pencil to draw diagrams.

Instructions :

@iy : Caaeuwrar @Lgdle) 11D cueHEl FETUTHSENET CT(LHSE|LD.

Note : Draw diagrams and write equations wherever necessary.

L@ - 1/ PART -1

GOLY : () Slewenggl cdaéaEps@b ofleLwellése|. 15x1=15
(i) Qar@&siul_Hder mreng Wwrpm oL sailed W& ghHUL W
eflenL_onwis GainCs0s816 GO HLen eflamLullaanybd Csigs) e ab.
Note : (i)  Answer all the questions.
(ii)  Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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Qereumauarteupmier 6rg Qi im < mpiubisH ?
(i) =NH, () —NO, (@) —OCH, () —OH

Among the following, which is meta directing group ?

(@) -NH, ® -NO, (© —OCH, d) -OH

@ FsUbearTiGen &rren @Cr wrdflwrer Gerellammed o (Haureug
(=1) srruen Crir jwed (<3,) erevssLymenr seui CQUM(mET
(8) safl emiy () &mEseuir Qummer
Homolytic fission of covalent bond leads to the forn:ﬁntion of -

(a) carbo cation (b) electrophile

(c) free radical (d) nucleophile

R SDENEFL_Ig6) 2 ETarT Sfsulgorer qaslyrasaile oramamilsamsulanar

GO Heug :
(1) 4142 (=) 2n° (@) n+l (/F) 21+1

The maximum number of electrons in a sub shell is given by the expression :

(a) 4142 (b) 2n? (c) n+l (d) 20+1

@ a1 Qsweapampuller Siam_gdlen erenGrm4l wrHoLd :

(1) <0 (<3) >0 (&) =0 (/F) =0

In a reversible process, the change in entropy of the universe is :

@@ <0 b) >0 € =0 d) =0
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2 W9iGeud < s8@en Coemen waray 5 ppm -&@ @Gopaurass Qaran@erar i wrddl

CISERICE: -
(=) aflsarailer sorpe < sdmen o drarg

(<)) @flserelled gLl (Harerg)

(Q) e@PHs COD

() ©opps NeTey s@HS péfgdr 2 dreng)

Biochemical oxygen Demand value less than 5 ppm indicates a water sample to be :

(a) rich in dissolved oxygen
(b)  highly polluted

(¢) low COD

(d) poor in dissolved oxygen

0.018 &ymb erenLwiemer Birsgiefluiey o erer Bir epaammsaien cramailsans :

(<=1) 6.022x1020 (<=4,) 6.022 % 10%°
(@) 9.9x10%2 () 6.022x10%3
The number of water molecules in a drop of water weighing 0.018 g is
(a) 6.022x10%0 (b) 6.022x10%
(c) 9.9%x10%2 (d) 6.022x10%3

CO, -&n Hlanavworm Geuliuflera

(1) 31.1°C (<) 30.1°C (@) 21.1°C () 35.5°C
The critical temperature of CO, is :
(a) 31.1°C (b) 30.1°C (c) 21.1°C (d) 35.5°C

C,F,Cl, e Guwi :

(=) ooluflwmedr - 111 (<=,) ooiflwmen - 113
(@) Colflwmen - 112 (/F) oolaflwmerr - 11
The name of C,F,Cl, is :

(a) Freon - 111 (b) Freon - 113

(¢) Freon - 112 (d) Freon - 11
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9.

10.

20 sflwé Goingdd o drer ampl rmmar sarLpiu arflser Gergamar Hlepss -
UREDE. Qeuelamanuie Be Flmib o (meureugnHETan ETELD :

(<) Fe,[Fe(CN),], (<) Fes[Fe(CN)¢l,

(&) FeslFe(CN)gly () Fe,[Fe(CN)gl;

Nitrogen detec-tion.in an organic compound is carried out by Lassaigne’s test. The blue
colour formed in this reaction is due to the formation of :

(a) Fey[Fe(CN)], (b)  Fey[Fe(CN)4l,

() Fey[Fe(CN)]; ‘ (d) Fe,[Fe(CN)],

emeumn @ @Hamm QCJIIQJ somausaild ergyy Qrerd V i |
gl Grereb alfldud el G
cllosasnss M HEmns ? 'Qc’] BiG CHirEm

(=4) HCI+§,r’r

(<) <AL CLmen + @CermrGymsLimiid

(@) ersHemmed + Bir
(F) Bir+enpliflé Sjbieid

‘Which one of the folloWing binary liquid mixtures exhibit it oy
law ? i 1ts positive deviation from Raoults

(a) HCIl+Water
(b)  Acetone + Chloroform
(c) Ethanol+Water

(d) Water + Nitric acid
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11. sapml : S@TOURESLLUL BT mansg) gaflomseEpdar afelwb 2ids
SwelursGo QHma wdHlGmeans QupmeTers.
snyewoTo: &M U ssLul Herer  Smarsg) saflomgEner abadlubn HSHs
ere&Lme BriL wiubemerns Qupmerers.
(1) smpmy sflurang) <pamme sryewid seupreang.
() Doy wHYD srrswd Hdu @rar@n sfurarg, Co@ib SMremToTeTS)
Sapiipare sflwrar elerésin <p@Lb.
(8) s=pmi wHmID sMTeRID YA Qrav@n soupreansg.
(FF) &amml WHMID SITESTD <8 W @umrr@u) arrﬂu_lrrecr@ YT SNTERTLONETS)]
SamNIDaTes Fflwrer elerésnaa.

Assertion : Helium has the highest value of ionisation energy among all the elements known.
Reason : Helium has the highest value of electron affinity among all the elements known.
(a) Assertion is true and the Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation for the
Assertion.

(c) Both Assertion and the Reason are false.

(d) Both Assertion and Reason are true but the Reason 1s not the correct explanation for
the Assertion.

12.  erppenpuiled, 2 mélw Camqwib emant rid&me( Wenamn L@ssiur (), Gamgwib
4fzCshasliuGing ?
(21) QLaren penm (<),) smevLenmi (pevm
(&) Sevleurd® wem (FF) swenen(h (pevm
In which process. fused sodium hvdroxide is electrolysed for extraction of sodium ?
(@) Down process (b) Castner’s process
(c) Ostwald’s process : (d) Cyanide process

13. 250,(g) + O,(g) = 2504(g) erenmp efNewarufen Ang i :
{812 ()1 (@) -2 (m) -1
The Ang value for the reaction
250,(g) + O,(g) = 2504(g)
(@) 2 (b) 1 © -2 @ -1

A
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14. TF5 epeodan e QUlg-GULD

(=) smr GrA@ ~ (=) éGaran GHArde

(®) eramapd (rF) e F&ITLD |

The shape of IFg molecule is

(a) Square pyramidal (b)  Trigonal bipyramidal
(c)  Octahedral | ~ (d) Square planar

15. B eumy Gré&rug,] :
(=1) CO+H, (=) H,O(g) (@) CO+N, (7)) CO+H,0

Water gas is :

(a) CO+H, (b) H,0(g) ) CO+N, (d CO+H,0

L@ - 11/ PART - 11

GOl : aemeauCued ml elaTEsErs@ eloelissalb. elarr eram 24 -&@
sL_Lmuwngs adlenLweflésa. 6x2=12

Note : Answer any six questions. Question No. 24 is compulsory.

16. GTEOSLITET Ul SETENLDENII GUEHTWIMIGSHELD.

Define electronegativitv

17. swrer Henm — CIIUDISEEE|LD.

Define equivalent mass.

18. sredwib sriuGariiger Bg Qeuliugdlen aﬂmmaﬁ]ﬁ)asrrem. FamUMH &SI
_gmefmurrl_'_sm_ GT(LPSIS. g

Write the balanced equation for the action of heat on Calcium Carbonate
< .
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19. craLaflear ugd 2iWwss eldmwus sams.

State Dalton’s Law of Partial Pressure.

20. demeupd Goiwobisafler 2 drar Gansaarionu ops)s.

(<1) BF, (<) CH, (&) PCly (FF) SFe
Write the hybridisation present in the following compounds.
(a) BEF; (b) CH, () PCly (d) SFg

21. UGS Glge elleneTe CTETMTE ereae ?

What is Greenhouse effect ?

22. Quendenan eredeumm BHC <48 wrhmieumis ?

How will you convert Benzene to BHC ?

23. ugeuflengs CFTDBIGET GTEIMTED GTETET ?

What is Homologous series ?

24. 2 4.4, ffa 90 i GEp&CaTan smrhgeTer sarsaler Gumemel il igamw
saEE (s 7

Calculate the molality of the solution containing 90 g of glucose dissolved in 2 kg of water.

L@ - 1/ PART - 11

@iy : aemeuCuenih ymi elamésErsE oL walssab. eflamm erar 33 -&@
sL_Lmuwng adlenwefldsab. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. ML — euanrum&se, . 3p, wHID 4d,2_ 2 <MLL melleb 2 6Tem eravdLTreniss,
n OmID 1 wHULEmaTs dams.

Define orbital. What are the n and 1 values for 3p, and 4d2_ P electron ?
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26. eaplrgeaflan LWESMETES S(HE.

Give the uses of hydrogen.

27. Sweflursen g hpalar sperssen Ldmlamen afeufl&Esa, L.

Describe the periodic trend of ionisation potential.

28. H,(g) +1,(g) = 2HI(g) erep swHlovew eleweansd K, whmb K, wdiyseaar
aUHeN &S WD.

Derive Kp and K_ value for the equilibrium reaction H,(g) +1,(g) — 7HI(g).

29. eou () YenewTlIL] GTETMTE) GTedET ?

What is a pi (w) bond ?

30. Qamevedlen Qeuliid LIPT &L edFlew 6 wwILime. L.

Define Hess’'s Law of constant heat summation.

%

31. &(p&SHeUIT @urr@eh LHMILD eTedyrer seaur Qummer — CoumuH&s)s.

Differentiate Nucleophile and Electrophile.

32.  S\2 eflenar euflepenmenut ellaTéEs.

Explain Sy2 reaction mechanism.

33. CH,=CH,+ Bn y A —HPEADTE, KqHﬁ\ p —NaNH; | C

A, B opmitb C -eow SRS

Find A, B and C.

CH2=CH2+ BI‘2 y A ale, KOH > B NaNﬂz_) C
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u@d - IV/PART - IV

@MUY : Siemengs) aﬂsmrrésa;@é;@m cllen_weflsga)i. S¥522
Note : Answer all the questions.
34.

35.

(=) () elefllsfe sremiu@d @@ &fws Gaiob 40% &riLer, 6.6% epanL Fege

LOMID 53.4% Ws&flmmeans Qaram@erarg. &Gsinsder erafllu 18z
QUMLLUTL Ilgenends SerL_Hs.

(i) BOHPDESE GeuramLLd eram Ghlss Hm GHOLIY eT(PSI5.
9|6V6VF) '
(=) Quileflwid whmib oigfaflugdhaTear @55‘5, BETENL&E wl eleufl&sab.

(@) (i) An organic compound present in vinegar has 40% carbon, 6.6% hydrogen and
53.4% oxygen. Find the empirical formula ot the compound.

(i) Write short note on spin quantum number.

OR

(b) Discuss the similarities between Beryllium and Aluminium.

(1) (i) @m;&@&@a@ HADL_MT(N&ET TGO erane ? THSHEST_HS H(HS.

(i) @rhsOEHHen HHD BogmarGsaila urgerar aaslrer
SenliMenang SHs.

3| 6VEVG|
(=) Sissphmedlen Apinduesamar ellaTéEs.
(a) (i) What are Interstitial hydrides ? Give an example,

(i) Give the general electronic configuration of Lanthanides and Actinides.

OR

(b) List the characteristics of internal energy.
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36. (=) ()  Quendor. eNHenwiss F0 IS, T
(i)  eurem i eurden FLOGTUIML g6 2 aTem Ga 2 eTediDsmen fopssag
eflems g,
9|06V
(<=4) eumassrL_ Qo oL] FLOGTUML I et aU(med&aEaLD.
(@) () State Raoult's Law. ‘ .
(i)  Explain the correction term for Volume in the Van der Waals equation.

OR
(b) Deduce the Vant Hoff equation.

37. (=) N, ppaseapm EBaTEmO Apssmy @ MAlLrd (MO) Qarérens ppaid
ULSZIL e efleurdldsayib.
: ANV
(=) @) Qeneumd Comoriseiar IUPAC Quwursmars &ms.
. | ©)
(A) CH—CH,-C-OH

(B) CH,—CH,- C—CH,~CH,
o
CHjy
©) CHS—CHQ—CHZ—N—<}g
(i) B -p&s elemanenwi er(pgs.
(a) Discuss the formation ot N, molecule using MO theory with diagram,
OR
(b) (i) Give the IUPAC name for the following compounds,
O
(A) CH,~CH,~C—-OH
. (B) CH3-CH2—ICI—CH2—~CH3
O

CH,
|
(C) CH3-CH,—CH,~N-CH,

(i) Write B-elimination reaction.
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11

(=) () Swpssareupmer Qmpg Queardeaner ereueurm swrfliumd ?
(A) HALigaden
(B) Sermed
(i) DDT -6 LIW6&eT Wreney ?

AT

(=) Sile wepLp ereucuTm 2 (Haurdlmg ? igen eflenaTeysener allendEs.

(@) (1) How will you prepare Benzene from the following ?

(A) Acetylene

(B) Phenol
(i) What are the uses of DDT ?
OR

‘(b) How is acid rain formed ? Explain its effects.
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